AR — G DRR

[ERZ 5 R e

¥ B W
TEXA (5 A Z — B oR B oo KR B %O
1| /N 9—-37-—5 BTAHL (77T L3R
551 HEEX
2 | HAn 2—1—114 AP (SiLd WS EERT
3| HAn 2—3—2 AFAHET = > A
4 | A 119—-3—1 HE B DR R S T T7 =R
5| A48 126—-3—1 fEFHERIT I B B R
6 | A4 146—-37 ) mAET =R
T A 111-3—-1 WEeeofy T a7 iR
8 | A48 143—-39—-1 el 2 7 B
9 | AHF 144—5—4 H &STH 7 ey 7if
10| A4F 119—2—4 BAVEEE ) (BR) APWHBEFTE T = R
| A 122—21—2 WERE B~ AR
12 A% 113—4 WEFHAT AE (WRILT)
13 | A4 49—1 BAEEA AR N T = o A
4| A4 49—1 BT I B
5| A4 82—14 bAh— % CRER IEREA DR
16| A% 136—1—1 BBWETEY;  1EdA A
17 A 96—-1—1 PPHESE (BR) KAUE HEFTHT
18| A4 143—-13—1 e AT AR (= 2/ R E R RR)
19 A4 153—-20—1 AGRERET RSy (Hr LR S
20 | BN 38—-8-—1 AN ik R = R
21 | b 10—-6 HPHR T ry 78
55 2 Fe X
22 | W 6—3—1 CIRFIX 5 K KA
23 | Bl 26 —4 HRAE \BRERT M
24 | B 21—28—1 AT PTA
25 | B 17—-29—1 AR M GERRAERT)
26 | #L  20—13—2 FB K AKET (TE B2 A
27 | B 18—22 BRAREE 7 = A
28 | HFESE 27—19 SENUBIIF/NE |
55 3 FEEX
29| XF 54—46 RF-NEREET  BKOKKE
30| X7+ 32—11-—1 Wl 7 a7 %
31| R 29—-6-1 BEDTRTE TR
32| R 27—11—-2 RS R T INBRE T = > A
33| ¥+ 33—-15-—1 EAE  HH
34 | JEIHE 2—30 FIAER RS
35 | fhi 18— 14 FAFERNT RAT

1




vy

BEXAY [FT KA R X — B R % oo & & %O
36 | HESF 32—3—4 AFHERE  FraH
B3 X -
37 | HESF 10—12 et Al
38 | [@H 25—25 INFERT E¥ES
4 FREX -
39 | [ 26—22—1 e EE 1
40 | [HH 6 —9 W] HARAE 7 = > A
41 | M 5—38 FRILACSES:  PArf i
42 | @M 5—46 INEFIIR TRk
43 | KRR 29—66 KR X FEIEEAT
5 REX : .
44 | KRR 23—43 E T X E¥EG
45 | B 39—11 e R RS
5 6 FEEX —
46 | B 30—20—1 e IRFE  FRERGER
47 | B 41—1—1 EHARE7 = A
48 | I E 87—11-—3 TRk N A B
BT REX
49 | JII k= 32—-28 INEE— TR
50 | JIl k= 22—15 ‘ALK T uavrik
51 | JIILE 96—20—1 PSR Pt GEKKEM)
52 | JIIE 62—38 “ARET
53 | =4 10—10 SHRZAWAMERRE T = v A
54 | &SR 34—4 FRHER S N
58 BEX
55 | Z2J1| 13—7 Z)NN T ND R
56 | BA 71—5 N ANt T
57 | 84 61—10 IR SIS
58 | @A 66—31—2 Fl 7+ HRSTHE
59 | Al 22—10—2 153 RIFE AT
60 | AL 16—42 R ZRoMmIEY 72 A
61 | #=4m 6—12—1 REFIESL  FiAaH
62 [/hEEH  13—1 JINERFH X A s i
O REX — —
63 | EEF 21—22-—1 PR INFAL (e Rk )
64 | HEEF 27—5 BAZE 7oy 7
65 | HEEF 21—22-—1 TESRINERE (T R 7 =2 R)
66 | AN 19—3 IWAYRS RS
67 | M WE TR X R
68 | % 17—1 TBEMFBHE RS
69 | % 11—-7—1 LIRES-
70 | [f4% 8—16 AGR— EES




¥ B W
BEXL (&5 KA R X — B R % oo & & %O
71| KB 28—6 TRTKEE #WT5
10X -
72| X& 33—101 EHfEmE 7oy oh
73| KE 44—27 —WEE W5
74| KB 45—35 AT AR 7 = v &
75| KE 51—31 BRAa/INE AT
76 | KB 58—29—1 HIANERE
FIHEX N .
7| KB 52—65— 34 HES 72X (RIFELD EFOAED
78| KB 90—27 N KRNI (L —F W5 R
79| KB 39—2 Kigfe—  FrZess
80 | K& 91—54 mErEr R fRAY
81| k& 91—-68—33 INAKEEESTHE (BLfE SE8KAT)
21 kB 113—11 B v+ TR
12X
83| KB 113—72— 3H#u5E INE KRNI (PR A TR St o & — /S A 2A)
84| kB 116—81—7HkE N KEERSZ L CF 78 iRfE )
5| kB 125—21 JHTECHR ST M R E AR (B KA AT
86 |4 HIE MMk 78 (i) AT — LR 2R AT
EAARES TIPS .
87 |4 HIE MH& 101 (W) WHFEEIL v X —Hi
88 |4 HE MK 117 CNFE)  [/NFRE S A EAFT
89 |4 HIE MH#& 130 () IR = T AR
90 |4 HE MM 137 (Fd) 155 55 KB AR o 7Y
91 |4 HIE BIA 30 (KiE) Ky AR AT T
B 14HEEEX —
92 |4 HIE BIA 59 (hgiE) A7 — LR Z AR AT
93 |4 WE nkA 8 (IR A I IE(E 2R
94 |4 HIE ARA 33 (B PWARBR% v Z —Hi
95 |4 HE DA 31 (FRED) REEMIE BT
96 |4 ME OkA 45 (FiH) B R 4 i
97 |4 WME kA 18 (BT FEHT /S A &AL
98 |4 HE H I 43 (EE) P8 /R ZAEAF T
F5HEEEX —
99 |4 HE HE 35 (EE) M ==k B
100|4HE HE 25 N ERs T¥EFTRT
101 |4 HE FF 18 IH 4 W EZFERTHI
102 |4 HE HE 15 WA BEER]
103 |4 WE s 10—8 FEA B KoK Rl 3T
104 |4 HAE 30 FHEF RS, A
F16H X . .
105 |4 HE H 33 ML Rl AT
106 |4 HE 23 o 22 [ R T




¥ B W
BEXAY [FT KA R X — B R % oo & & %O
107 |4 HE T 6 WD E WD i N S LT
BT EEX — :
108 |4 HE T 20 B OMEITER AT
109 |4 HE T 31 O RERT ST
110 |4 HE T 37 PR RS PTRR
11 |AHE T 61 (%) FRAGE /S 2 AT
12 (|4 HE T 70 (F%) H oK -
113 |&4mE M 12 INEEA B — 2RI
H18HEE X — ;
14 |4WE N 16 (FHN) WEIREM = XK
s |4HE MM 21 (W) Jr B kAR 7 = 2 A
116 |4 WA 48 11 (F%) % EAG AT
H19BEE X
17 |4 WE #4817 (kB MRS PraH
118 |4 HE A 19 WEAEER Y 2 —i
119 |4 HE AR 3 4 W EERS B SRS T i s
HE205 B X .
120 |4 HE AR 4 IH B3R
121 |4 HAE &b 4 HH A7 2
1224 WA A 11 WERE T T K
123 |4 HE AR 28 75 H 5 B
124 |4 WA 2% 24 bt A
125 |4 HE 28 14 HEF T
126 |4 HAE =% 35 (i) NGl
FE21 e EE X -
127|4HE =& 20 (F=#H) HfER 2EE N
128|4HE =& 5 (F=H) = EH N AEA T
129|4HE =& 28 (JBZW) WE -
1304 HE =& 27 (BZ2WM) |2 AN R <]
131|4HE =& 41 (uH) BRRX 7 = /R
132 |4 HAE Z& 54 (FFn) FKFN/ S AT
1334 HE =8 10—9—1 & |IuAZE @
134 |4 HE N 19 FR R R
HE228F B X - —
135 |4 HE /Mt 10 K= IHIE
136 |4 WA /MW 15 PR B B K EINER > 75
137 |4 HAE BEER 10 WA RIRE AT
138 |4 HAE BEE 16 AR A
1394 HE 558 10 & E ]
140 [ HE A4 11 M s\ E 70




